3apanua tTvna B3

x—13
B3.1. Haiinure xopeHb ypaBHeHUSA (%) = -é

B3.2. Haiinure xopeus ypasuenus log, (x + 5) = log, (4x — 10).
B3.3. Haiinure xopens ypaBuenus logs (12 — 3x) = 2 + log; 3.

B3.4. Haiinure xopeHb ypaBHeHHs 4N &

1

dx-11
B3.5. Haiiaure xopens ypaBHeHHA (l) = 335+

2

B3.6. Haiinure kopenb ypaBuenus logg (x + 3) = logg (2x — 16).

x-11
B3.7. Haiinure kopeHb ypaBHeHHs (:1;) = &

B3.8. Haitnure kopenb ypaBuenus Y 2x+ 7 = 5.

x—8
B3.9. Haiinute xopenn ypaBHeHHS (8_11) = 3.

B3.10. Haiiaute kopenb ypaBuenus logs (9 — 3x) = 2 + log; 3.
B3.11. Haiigute xopenb ypaBHenus logg(x + 4) = logg (4x — 2).
B3.12. Haiigure xopenb ypaBHenus log, (6 — x) = 4.

B3.13. Haiinure xopens ypasuenus log, (8 — x) = 4.

B3.14. Haiinure xopeHb ypaBHeHHs lf 2x; D = 11.

B3.15. Haiinure xopenb ypaBHenus logg (x + 6) = logg (6x — 9).
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